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R ERIILIHST (Ea—R)

JIE 152 K4 g3 ouT IN Gross HDCP NET
1 B Bz — O E B 38 34 72 8 64
2 g2 H £ O H W 39 39 78 12 66
3 H il O £RC 38 40 78 11 67
4 OB O OX O m = 38 37 75 6 69
5T T SN O £RC 43 38 81 11 70
NI i i O £RC 41 41 82 12 70

W T F = O Hhiha 39 41 80 10 70

£ A B R O m & 37 41 78 8 70

E JII B Al O MBI 37 41 78 8 70

10T | 8 & & @ O 2IKRE 42 37 79 8 71
B A & O BES 43 42 85 14 71

F H F O = G E 40 39 79 8 71
R - O BEEG 41 40 81 10 71

Ik O pE O BEE 39 40 79 8 71

A B F sh O V4U74=IV R 37 43 80 9 71
Mo 2 = O 7+—-LAMEFH 36 45 81 10 71

7T | & & @B = O = [ 46 38 84 12 72
R ] F O BEEG 44 42 86 14 72

F B M = O E & 41 39 80 8 72
¥ 5F O ®iRG 42 41 83 11 72

i H F = O FGE 42 40 82 10 72

= B E 1T O V4U24=IbA’ 40 41 81 9 72

H & D) £RG 42 43 85 13 72
INE 3 AUE 41 43 84 12 72
TN 3 = IR 40 44 84 12 72

26T | 4t R—1h £RC 45 40 85 12 73
R ¥ o2 m B 43 39 82 9 73

R E F = 41 39 80 7 73
BB g5 &K KXEDE 39 37 76 3 73
R E AUE 42 42 84 11 73

& W — AR 39 40 79 6 73
/oIl £ B m = 37 39 76 3 73

B B & 3 &RC 39 44 83 10 73

# ¥ IE = BEEE 39 46 85 12 73

3BT | £ A & 5h AR 44 40 84 10 74
A B # AINE 7 44 43 87 13 74

T % &£ iE m = 44 42 86 12 74

& H & XA = G E 44 43 87 13 74

2 H F # E = 40 40 80 6 74

T Il R & FiE 42 42 84 10 74

2 T B & RE&C 40 44 84 10 74

27T | F W B Hhhs 46 39 85 10 75
Ml P BB 2 HE&C 43 39 82 7 75

2 3 FiE 41 39 80 5 75

5 B & 17 ®iRC 44 42 86 11 75

h & & = BE&C 42 41 83 8 75
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JIE 152 K4 g3 ouT IN Gross HDCP NET
Ci =, A = FGE 42 41 83 8 75
E H B % AUE 43 42 85 10 75
H £ & — £RG 40 42 82 7 75
50T | —ZAA — B AR N 43 41 84 8 76
N A £ # =R 39 43 82 6 76
NI B E RE&C 42 46 88 12 76
A ¥ B E V4U74=Ib A’ 39 44 83 7 76
B ol FE A FGE 39 45 84 8 76
B & B A FEBE 41 48 89 13 76
56T | X H § — BH W 44 42 86 9 77
£ & M &l 2IRE 45 43 88 11 77
JIl 6§ i BEEE 43 42 85 8 77
b H BH V44—V R 41 42 83 6 77
F £ & & KXKEDE 42 44 86 9 77
K O & i hha 40 46 86 9 77
62T | £ F HBHHE NN 50 40 90 12 78
m &E E & V4U24=IbA’ 44 43 87 9 78
= Z L M E & 42 44 86 8 78
B E B M #iRC 43 46 89 11 78
B 8 B sh = [ 44 46 90 12 78
Bl & & 7 BEEG 44 47 91 13 78
68T | ¥ B B =&k B W 50 40 90 11 79
F H & 7 e ANOEY 46 41 87 8 79
X W F 7 AUE 44 44 88 9 79
H &8 B — AUGE 43 44 87 8 79
i K OE = HEEG 40 42 82 3 79
O ke B 7+-LAMEH 44 47 91 12 79
A H £ 1= AUE 43 47 90 11 79
X T &3 *x £RG 43 46 89 10 79
¥ O & — &iRC 44 47 91 12 79
fERK H =& E & 41 44 85 6 79
#® g 2z KEDE 42 48 90 11 79
£ X pi:3 HhaE 41 49 90 11 79
80T | X ® % & £ RC 46 43 89 9 80
M ] £ BEZC 45 42 87 7 80
£ & K 7 K R 42 45 87 7 80
83T | B8 H — & £iRC 50 42 92 11 81
kR 3 S KXEDA 46 44 90 9 81
~ B - # = [E 44 49 93 12 81
86T | & O 4 B KXEDE 45 40 85 3 82
A B 2 £RC 46 46 92 10 82
88 2 1B #E B FiE 47 44 91 8 83
89T | H & & B V407 4=IV R 45 50 95 11 84
I E [ 44 50 94 10 84
oNT | A1 JIl = B Hhs 51 47 98 13 85
B OH il 5 P 47 49 96 11 85
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93 H # E X M B2 43 50 93 7 86
94  H* R & = 50 50 100 13 87
95 BE & W — = 46 52 98 8 90
- /N H R g2 P R 15
- N FF B F I# R iz
- ok SR ®RG R 5
- t B & & E &# R iz
- JIl B B # 7+—-LAMEFH R 5
- ZE N F A 52 P R 35
- A W M = = R 15
- w ZE @ B NN R iz
- = H & 7 &RC R 5
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